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1. A swimming pool is 5 meters long, 2 meters wide, and 3 meters deep. It is filled with water to a
depth of 2 meters. (So the water level is 1 meter below ground level.) How much work is required
to pump all the water to ground level? (Once pumped out, water does not flow back into the pool!)
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Relevant Facts: . —
The density of water is 1000 kg per cubic meter. = \ 3 q 72000 J l |

Acceleration due to gravity: 9.8 meters per second per second.
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1. A box-shaped tank is 5 meters long, 2 meters wide and 4 meters tall, as shown below. The tank
is filled to the top with water. How much work is required to pump all the water to a height of 1
meter above the top of the tank? '
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Relevant Facts:
The density of water is 1000 kg per cubic meter.
Acceleration due to gravity: 9.8 meters per second per second.
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1. A cylindrical tank of radius 1 meter and height 2 meters is filled to the top with water. How much
work is required to pump all the water to a height of 3 meters above the top of the tank?

Ownent the g-axis so

— 1

that © 18 &t The Hop
Q“; +‘\e '\‘G'.hk QQ\A o -
2. \8 at the ‘Oo‘va\' Y}\r -

\ 2 5
Divide s m;f'"amx,( ) e L
wke N f(m,v"\“s. a The WLzt IR lé e,
ysval way So each 5 Lo —_

Sub bervd as width gy,

Divide the water o layers  @och oL heght A\é S layon.
¥ K 6 ab 'Xky as lvstraled

.lEfAdL-L\ (48@/\“ Kas mMags '{OOD"{TF'L/_\S = 00 TT A M.
And layer & mvst be

Pemped o chstnce of
3.&5\4 S 'ﬂ\qﬁ chrk‘ Cia\v\& \rv'\ h"@‘lf‘:lﬂ‘. \0\\/'@»4« ‘ﬁ“’*

¢ WKQ: W ow A :(c“Jac:)'fTA'-j 1.9 (3*““3)&3

= 9800 (3+Y, )4y
“l”he "lr‘okw( wavk @X«c&vt @ s "H’/\ e.ve;(:z::a V@

W = i '52& 9g0oT (3+9,) 4Y

N2>z 5 o
“ » ‘ ki
, = 8‘13097\"‘(%%‘3)% = 98/00{3%*‘ 2 1)
?80% o 5 — e

0o - ?8@07(3'2+% ) - \78‘7{007?‘ i

Relevant Facts:

The density of water is 1000 kg per cubic meter.
Acceleration due to gravity: 9.8 meters per second per second.
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1. A swimming pool, completely full of water, is 5 meters long and 2 meters wide and 1 meter deep

How much work is required to pump all the water to ground level? {Once pumped out, water does
not flow back into the pool!)
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Relevant Facts: |

The density of water is 1000 kg per cubic meter.
Acceleration due to gravity: 9.8 meters per second per second.




